Holley
___

Holley Accessory Drive Kit

Table of Contents

LS 1] 2
Passenger’s Side Bracket INStallation: .........ccooooi oo 3
AIC CompPressor INSTAIIALION: .........oiiiiiiiiee ettt e e e e e e e e e e eeeeeees 4
TN =T =T o F Lo T g T=T gl =T =1L = T Y o 5
Belt Routing & Length CalCUlation:........coooviiiiiiiii e e e e e e e e e e aeenn s 6
LAY =T = L1V TN o 0 = U f o o 7


https://www.carid.com/holley/

Parts List:

e Bracket requires application specific installation kit part # 21-1, 21-2, or 21-3

Parts included with 20-133 bracket Kit (see list supplied with installation kit for additional parts):

PICTURE QTY DESCRIPTION APPLICATION
1 Passenger’s Side Bracket Assembly A/C Compressor & Tensioner
1 Socket Head Cap Bolt, M10 x 1.5 x 30 Spacer to Passenger’s Side Head
3 Socket Head Cap Bolt, M8 x 1.25 x 100 A/C Compressor Bolts
2 Flange Head Bolt, M8 x 1.25 x 30 Passenger's Side Bracket to
Spacer
Tensioner Assembly to
1 Flange Head Bolt, M10 x 1.5 x 35 Passenger’s Side Bracket
1 Flange Head Bolt, M10 x 1.5 x 35 Idler Pulley to Passenger’s Side

Bracket




Passenger’s Side Bracket Installation:

If the EVAP solenoid is located on the This spacer is not .SUIOIO"‘?C’ with
front of the passenger's side head, it The brc’?ket' but is req_uwepl for
will need to be relocated when using ms"rollohon on all oppllpohons.
this A/C compressor bracket. This spacer is supplied in the

installation kit 21-1, 21-2, and 21-3.

Align spacer
cosmetically to the
bracket before
tightening the
bolfs.

Parts pictured may vary

slightly depending on the
installation kit’s intended
application.

M8 X 30
flange head.
Threads into
spacer

e
///
a i 5 .
= ) > 4 - 2 ) o .
e B T
- / ]
. M10 X 30
Socket cap head
M10 flange head
bolts supplied in M8 X 30
installation kit. flange head.

Threads into spacer

NOTE: Torgue M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.



A/C Compressor Installation:

(©m—--

(3) M8 X 100
socket cap
head

This threaded spacer hole is not

used in this bracket application. ‘\ ! :
T (e b))\
NOTE: Torque M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.




Idler & Tensioner Installation:

Parts pictured may vary slightly
depending on the installation kit’s
intended application.

Some spacers may not be included or
required, depending on which
installation kit is being installed. No
tensioner spacers will be used if
installing "TYPE 2, 3, OR 4" water
pumps (See fitment guide for type
descriptions).

This spacer is included in
installation kit P/N 21-1
and is to be used with
"TYPE 1" water pumps only.

Tensioner assembly

Ribbed pulley will need
to be removed from the
tensioner assembly and
installed as shown, and
the smooth pulley will
need to be installed inits
place on the tensioner.

M10 X 35
flange head

This spacer is included in
installation kits P/N 21-2
and 21-3 and is to be
used with "TYPE 1 & 5"
water pumps only.

M10 flange head
bolts included with
installation kit.

Thermostat assembly removed for
raphics only and is not required

M10 flange head or installation. In a few instances
supplied with the water pump may need to be
tensioner installed after the bracket. See

fitment guide.
NOTE: Torque M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.




Belt Routing & Length Calculation:

HELPFUL HINT: When installing the belt, route around all the pulleys except the water pump pulley.
While fully rotating the tensioner arm, slip the belt on the smooth water pump pulley last.

Use serpentine belt part number 6PK2490 (not included in bracket kit) if using ALL Holley
accessories and supplemental parts.

If you are installing a Holley bracket kit and are NOT using Holley accessories, you will have to
measure to find the correct belt length as pulley diameters vary on accessories and will
directly affect belt length.

To acquire this measurement, perform the following:

After all brackets and accessories are installed, route masking tape or string around the belt path.
Leave the tensioner in the un-sprung position for this measurement. Mark or cut the tape/string to
length and remove from the pulleys. Subtract 1 1/8” (28 mm) from the measured length to
compensate for the un-sprung tensioner position. You will need to convert belt length to millimeters if
measured in inches (inches X 25.4 = mm). Go to any auto parts store and ask for a 6PK0000 belt
with the “0000” being the length in millimeters. For example, if you measured 2493 mm and then
subtracted 28 mm, you would get 2465 mm, and the part number would be 6PK2465.

Tensioner pointer

Acceptable belt
tension range after
engine has been
cycled on
and off
once.

Learn more about replacement A/C and heating parts we have.


https://www.carid.com/air-conditioning-heating-parts.html



